Poem Quiz
Read the poem and answer the questions
I wandered lonely as a cloud 
That floats on high o'er vales and hills, 
When all at once I saw a crowd, 
A host, of golden daffodils; 
Beside the lake, beneath the trees, 
Fluttering and dancing in the breeze. 
1. In the poem, "I Wandered Lonely as a Cloud" the line "dancing in the breeze" is an example of...
A. personification
B. alliteration
C. simile
D. metaphor

There was an Old Man with a nose,
Who said, "If you choose to suppose
That my nose is too long, you are certainly wrong!"
That remarkable Man with a nose.

There was an Old Man on some rocks,
Who shut his Wife up in a box:
When she said, "Let me out," he exclaimed, "Without doubt
You will pass all your life in that box." 

There was an Old Man on a hill,
Who seldom, if ever, stood still;
He ran up and down in his Grandmother's gown,
Which adorned that Old Man on a hill.

2. How many lines are in the poem There was an Old Man?
A. 4
B. 8
C. 12
D. 16
This lit-tle Lamb was brought to Nell
The day its old ewe mo-ther died,
And, now it knows and loves her well,
It will not go from Nel-ly's side.
A-long the hall, and up the stair,
You hear its lit-tle pat-ter-ing toes:
Her Pet will fol-low every-where
A-bout the house, where Nel-ly goes.

3. How many lines does the poem Nelly's Pet Lamb have
A. 1
B. 3
C. 6
D. 8
4. Why do some words in the poem Nelly's Pet Lamb have a hyphen (-) in them?
A. To make the words look unique
B. To show how they are pronounced
C. To help with the rhythm of the poem
D. To describe the main characters
5. Poetry MUST rhyme.
A. True
B. False
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